2022 (A)
o SSC PART-I (10th CLASS)
PHYSICS GROUP-I

TIME ALLOWED: 1.45 Hours SUBJECTIVE J¥i»

MAXIMUM MARKS: 48 _
NOTE: Write same question number ..q_.Zy.uuf;_,;.Jlrﬁgé @JJ/}JIJ"/‘?J’!’L?J{QKQ'K Y

and its part number on answer book, as given in the question paper.

SECTION-l sl

2- Attempt any five parts. 10=2x5 _g{;fauz&ztég‘;éf -2/;‘Ulr
()  Write down the difference between Conductor and Insulator. -L{fulgﬁﬁukﬂéﬂf’"»'ﬂ/ &)
(i)  How Ammeter is connected in circuit to measure _q/ugc.df) ?cg_blgljfzgy?frffééfglf:}/‘_ﬂ_‘ffz (ii)
the current, support your answer with reason.
(i)  Why some elements are radioactive and s tZ_ﬂuff;:'gfg@é}d’!p{;ﬂpgl.ﬁég@é;ﬁ%: (i)
some are not radioactive?
(iv)  Write two main features of parallel combination of resistors. _q/}fayﬂ"ﬂlmfjm}’l,s/_';;w (iv)
(v)  What is Solenoid? State the principle to determine its polarity. _L{fugdﬂls’L)}PJ/J;Jw ?g_y'i’tér (v)
(vi)  The core of transformer play important role, state it. ,q/uy. _q:,;l;f(?ls):(ﬂ B (Vi)
(vii)  Alpha particle has more ionization but less penetrating power why? Tl_,}r,( - Ag.._ﬁ:}gj} u:ﬂﬁfb;_‘hﬁfﬂ_&w! {vii)
(vili) What is atom and write down its parts. Sl Lt Se S (vii)
3- Attempt any five parts. 10=2x5 -g‘,{{ fa&lﬁﬁ.lmé&;éf -3/.‘Uir'
(i)  Medium is necessary for propagationof sound waves, ..q:.duﬁﬁgfé_éytﬁl'ﬁ:i LS St 0
prove it with experiment.
(i)  Whatis sound? How is it produced? ??Jm,;c{_c,ycuf (ii)
(i)  If at Anarkali bazar, sound level is 80 dB. L i (k5L 3n 80 dB Jdssut e i
What will be the intensity of sound?
(iv)  What is electroscope and give its two uses? _..ﬁq;-,ufy‘!»éiu’l ?;.)ygfgﬁ.,ﬁ/"-gl (iv)
(v)  What is Coulomb constant? Write its value. -L;,’G.;EJJE ?.;.g(:.‘ﬁfy)f (v)
(vi)  Differentiate between variable and fixed capacitor. ~E U Aend va Sy (i)
(vii)  What do you know about E-Commerce? Describe it. Ik ?ugatg-t_f..jy&ufb’d' (vii)
(viii) Internet is beneficial for us. Write about it. _J/frf E‘.'__‘»i*a}_a..Jb".:.;;-'r (viii)
4- Attempt any five parts. 10=2x5 _égfuylfél?létc.df ..4/‘1)'!
(i) Define damped oscillation and give example. = f:dLmU/.ﬂ/’Ju’JJﬁM; (i)
(i)  The frequency of simple -4 g= 10ms™ qur:‘”dﬂd?:fg—: ?{ﬁg&f.-f'l.‘ﬁ’ulg. 0.5Hz Lj"":{,’tﬂ?yé-; " "l (ii)
pendulum is 0.5Hz. Find its time pericd, also determine the length of pendulum if g = 10ms™2.
(i) Define frequency also write its relation with time period. _uf’adw;;y‘_/jf'kfiﬁi_‘wfﬁijl _L,[/.._y/""d/d"yg} (iii)
(iv)  State the laws of refraction of light. _g_ful_z.ufl;"&:uig))gfdju (iv)
(v)  Whatis Snell's Law? Write its formula. 2 S e W)
(vi)  Explain power of lens. Also define its unit. _prhg/“"g{&gcﬁu’l -q/yu,&;w}—'} (vi)
(vii) Draw a symbolic diagram for NAND gate and write its truth table. -J&Lﬁ;ww?__uru@ﬁ’muﬁj NAND  (vii)
(viii) Define digital quantities and give an example. _é;JiP..@:Ié i /Uuuiﬁdft’;s {viii)
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ECTION-II (32>

as a tracer and carbon dating?

LA P LU 5 20 L i o
An electric bulb is marked with 220V, 100W.
Find the resistance of the filament of the bulb. If the
Find the energy in kilowatt-hours consumed by the b

Explain the application of 2+2 -uj_:h

electrostatics for electrostatic air cleaner. Also draw

1+1+2+1 ke L0 S Leif 15K

NOTE: Attempt any two questions. 18=9x2 -;é;f:,gml.;,wmc,df s
How radio isotopes are used 242 ?;_Cﬁlg{_/ dWi.f‘:igmﬁ;%}ﬁ'b)uﬁuﬂ#’f;é/ (.5

el L —e b 100W 220V g bR (L)
5 &Pt 5 a0 g At (st e

bulb is used 5-hours daily.

ulb in one month (30 days).

S Ui S o s S L I L5 g (e

a labeled diagram.

M el _ut 35 cm sl 2 KHze P 8t M S Sk (L)

A sound wave has a frequency of 2 kHz and wave length 35 cm. How long will it take to travel 1.5 km?

1x4 _Lbdelp e L
Expiain with the help of ray diagram the image forma
When object is placed at four different positions infro

5 g =10ms’ 3 g = g% Ji ?é?.’ﬁ,,lfdl

/'.{g,é;f;?)..f? L,{/i*.a Lé:d/fy:fdbé.f.c.ﬂu’gfctz.ug}/{‘lﬂiia.; (N7
tion from convex lense.
nt of a convex lense.

Ao sl s n st IOt a6 - 28 Laftihizol (2)

The time period of a simpie pendulum is 2 s. What will be its length on the Earth?

What will be its length on the Moon if g, = g%

where g, = 10ms™

18-2022(A)-50000 (MULTAN)




PAPER CODE 2022 (A) ( \\f)\ A

NUMBER: 3471 SSC PART-II (10th CLASS) ¥ )

PHYSICS GROUP- (- P
TIME ALLOWED: 15 Minutes OBJECTIVE Q"";/"ﬁ 215 = =y
MAXIMUM MARKS: 12 12= Af

Ao il /L;’//':.ni#.,}'ib«_u‘iufua.uf QA/IJZ.;_JLVLJV//(}E’JV J‘Zr_’-) D./C:B:A ...«LIJ’.J?J(;LJV; ey
/;/.J I Jt -{LELJU”{/UJ(J'._«JJ’JL/Q/ }()J/'J _fyi.r:“’bk._.«lfuygu'uzﬂdé.& Jo¥ " d_/:cfu:/buhc..u( Z.)
Note: you have four choices for each objective type question as A, B, C and D. The choice _u’/ J’);...mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not soive questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Example of Longitudinal waves is: -g;.d@djjgﬂ;‘;?g* (1)
(A) Sound waves J¥s£3l- (B) Light waves J‘;j;&ﬁ; (C) Radio waves J#sg4, (D) Water waves J;fsJ dg
(2) The loudness of sound is most closely related to its: Ve m{u’ﬁuﬁ}upb’w‘ oL (2)
(A) Wavelength Jf‘ib (B) Frequency J”:{ /  (C)Period iz (D) Amplitude 5 uﬁ’:l

(3) The image formed by Convex mirror is: _Z%Jﬂgldij'&:_c.}ﬁ/"rf (3)
(A) Real and erect sy (B) Real and inverted Sl ks
(C) Virtuai and erect (Sisf7.s (D) Virtual and inverted (sl fz.s

(4) in series combination of capacitors, each capacitor will have same;  —§rsls L ‘/_FJ//;FE_.lgUﬁa:g o2 ’/‘v’(ﬂ (4)
(A) Charge (b (B) Voltage éJ» (C) Capacitance J:f JF’/ (D) Charge & voltage  (ss1fsle

(5) Electric power is equal to: ,,:-_,‘:!,:;;&J}gt (5)
(A) I’R? (B) 1V Cy-1*V o) 1v?

() Transformer is used to change the value of: 443.212.4-(1#@)&4’?9%%@@%@) (6)
(A) Energy $./1 (B) Charge &b (C) Power s\ (D) Voltage (522

(7) The out put of two input NAND gate is "0" when: ﬂzﬁ.e.;_.aﬁ "0" ..*.«;.LFTJ:/K kel et (7)
(A) A=0, B=0 (B) A=1, B=1 (C) A=0, B=1 (D) A=1, B=0

(8) In computer terminology information means: -.C.»_»be{u%ﬁj AT (8)
(A) Large data Linls  (B) Raw data 356 (C) Processed data :iixs, (D) Any data ks u‘r df

{9) When Uranium (92 Protons) ejects of: E_Lyuu';flﬂ\{ gt u’-"“}/:'cﬁul?{_.t'f Zwb'J?J&L‘g (77 92) ﬁxg.,z (9)

a beta particle, how many protons are left in remaining nucleus?

(A) sy 90 Protons (B 44y 91 Protons  (C) ##, 92 Protons (D) s 93 Protons

(10) If frequency of a wave is 4Hz and wavelength is 0.4 m -Jﬂé;d/w:"‘ﬂ 0.4m ﬁéi’ml 4Hz u‘”;fj&:.ﬂ/ff (10)
what will be its speed?
(A) 1.6ms™ (B) 16ms™ (C) 0.16ms™ (D) 160ms™
(11) The unit of electric power is: -;.&“KJ:&J}-?! (11)
A) Ohm (s (B) Watt 21s (C) Joule 2 (D) Farad %7
(12) If the length of simple pendulum is halved, st £UL AL IS /ST S (12)

its time period will be:
T
A B) — C) 2r D
) V2T (B) = (C) (D)

8(0bj)( 7 )-2022(A)-50000 (MULTAN)
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PAPER CODE 2022 (A)
NUMBER: 3473 SSC PART-Il (10th CLASS)

PH?SICS GROUP-I
TIME ALLOWED: 15 Minutes OBJECTIVE gﬁf”j e 15 = &y

MAXIMUM MARKS: 12 12= Af
/‘"‘c:.._,s' L /U//I:"‘" ;jlb‘ s ...fu;.J' u:xb&ic...:d.bz‘_u'r//dé'gb’ -.J"d.c:.: D . CB:A ._«Ll:"’.fc’:vlnf.fdlrr oy
{241 KL bt /w(,.._m"g, P .«J JE)*/U ..b&y‘/r"hk._«fa_u‘,a,fﬁuw“g,(a./’jg 5 | f__/,éfuvba:bc:_—f s
Note: you have four choices for each objective type question as A, B, C and D. The choice -/ /,u“’)/uwr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Transformer is used to change the value of: el da (ﬂﬁr);«é?r@wwpw (1
(A) Energy (.7 (B) Charge ul (C) Power sl (D) Voltage (s

(2) The out put of two input NAND gate is "0" when: v:n—*’i%-&‘f "0 LpLd TJ\-‘—J..@L':-.*«;U! ” (2)'
(A) A=0, B=0 (B) A=1, B=1 (C) A=0, B=1 (D) A=1, B=0

(3) In computer terminology information means: -;_..,Jb/(ﬁiifuftﬁ”b:f?z{ (3)
(A) Large data Lnls  (B) Raw data 4356 (C) Processed data (:iizy (D) Any data ’J}Lf'ﬁf

(4) When Uranium (92 Protons) ejects f LWBJUJ/U’JL}/H/J“ L_r‘{.:....._, W;._ I, JLLP (i mf 92 ) (‘J_.o (4)

a beta particle, how many protons are left in remaining nucleus?
(A) ;iis,; 90 Protons  (B) ;?}5{; 91 Protons  (C) ‘/':5;4 92 Protons (D) :?i,u; 93 Protons
(8) If frequency of a wave is 4Hz and wavelength is 0.4 m -(‘,{ﬂ'.ji;{.“'\;u”;ﬂ 0.4m w“'@gmi 4Hz u’%ﬂ’}fg»ﬁﬁ (5)

what will be its speed?

(A) 1.6ms™ (B) 16ms™ (C) 0.16ms™ (D) 160ms™"

(6) The unit of electric power is: ,f_.:.:uﬁugq}?f (6)
A) Ohm (4l (B) Watt s (C) Joule Uz (D) Farad %/

(7) I the length of simple pendulum is halved, st YL a e L USSP 1 (1)

its time period wili be:

A V3T ® 75 (©) 2T O 5 |

(8) Example of Longitudinal waves is: el 9
(A) Sound waves ¥:xil- (B) Light Waves }J_J:JLL%J (C) Radio waves Jys#i. (D) Water waves )!;UKJL

{9) The loudness of sound is most closely related to its: fe r/u/ WAMK mJuuL« (9)
(A) Wavelength ﬂ?@g; (B) Frequency u‘"’é.// (C) Period 4z (D) Amplitude mu,u“f

(10) The image formed by Convex mirror is: e nBidsd e (10)
(A) Real and erect £ (B) Real and inverted (i s
(C) Virtual and erect (ks f7 (D) Virtual and inverted (11 f7 .

(11) in series combination of capacitors, each capacitor will have same: ¥l L ;w#’}?:._wya., by o /’r I (11)
(A) Charge (b (B) Voltage L (C) Capacitance L,’“ f"J (D) Charge & voltage é:wft/;lp

(12) Electric power is equal to: ,;b,:u,ug.f,«?f (12)
(A) 'R’ (8) IV ©) IV (D) 1v?

18(0bj)( < 37 )-2022(A)-50000 (MULTAN)



’PAPER CODE 2022 (A)

MMBER: 3475 SSC PART-l (10th CLASS)

PHYSICS GROUP-I

TIME ALLOWED: 15 Minutes OBJECTIVE Q;‘S/",.-v e 15 = &y
MAXIMUM MARKS: 12 12 = /j

Ao | /L}'/fb,alv’JU'VL 17 s u U:/l'zd_JLL—'L Iffo(Qi Q'r:_L_J D4 C:B-A MLI.?M';;J'{?LJI}’_/’ -y
VEIE ] KL[DLJVJ"://Q!(JHJ}"L, 4_.,/ Jz,l:/l; g’wr“&.ﬁiw&ﬁ;«»ﬂjg_ﬁ Jug ! A_/r,j/u:/lml.;c_._f et
Note: you have four choices for each objective type question as A, B, C and D. The choice ..u’/ J”/'/-_,Uly
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay

(1) I frequency of a wave is 4Hz and wavelength is 0.4 m J/}z ; b( 13 0.4m ﬁwl 4Hz ff}u@:ﬂ (1)

what will be its speed?

(A) 1.6ms™ (B) 16ms™ (C) 0.16ms™ (D) 160ms™

(2) The unit of electric power is: -c‘....:.f';fﬁus_.f/}gf (2)
(A) Ohm /Ay (B) Watt s (C) Joule U7 (D) Farad %/

(3) If the length of simple pendulum is halved, 0t L p el U b /TSR 1 (3)

its time period will be:
y 27 (B) % & 2r (D) 32:

(4) Example of Longitudinal waves is: -é—dﬁ‘&z’.njﬁ’g (4)
(A) Sound waves J#s#3l-  (B) Light waves J;_f;d/é’iy (C) Radio waves 7¢s# 4, (D) Water waves J;j:J GQ

(5) The loudness of sound is most closely related to its: ?‘;_mgufufl}upsufﬁu&s L (5)
(A) Wavelength #%s (B) Frequency %/  (C) Period 4z (D) Amplitude 3 (&%

(8) The image formed by Convex mirror is: -:c‘..Jﬁfodlsz;c.;/J-(f (6)
(A) Real and erect J»’Jmlu"g (B) Real and inverted Sl
(C) Virtual and erect u@uU’;;n (D) Virtual and inverted JJM;U;;»

(7) in series combination of capacitors, each capacitor will have same: -8z L 3 riebline 3 by o, }.’_571 (7)
(A) Charge (/b (B) Voltage (‘?)3 (C) Capacitance J‘»’;j‘/ (D) Charge & voltage (25410

(8) Electric power is equal to: -§./.L:ug_f/"‘.ﬁf (8)
(A) I'R? (B) 1v © rv (D) 1v*

(9) Transformer is used to change the value of; 2Ll Ge)ed q_t'lgw{a}wuili (9)
(A) Energy $./1 (B) Charge vk (C) Power s (D) Voltage ; 1

(10) The out put of two input NAND gate is "0" when: -:b,».:gfsﬁ 0" ceesTieed byl n  (10)
(A) A=0, B=0 (B) A=1, B=1 (C) A=0, B=1 (D) A=1, B=0

(11) In computer terminology information means: -«;—WKO%WUJ-J’QE&@{ (11)

L]

(A) Large data Ginli  (B) Raw data &3#76 (C) Processed data :3x+s, (D) Any data L‘;M{JJ/
(12) When Uranium (92 Protons) ejects ?J.ﬁ_tgu@{lﬂu(ﬂ:{ui u’—‘h:&{,u’l?g.t'f (,,{puéjw- ( ?iu; 92) r,"fjghy. (12)
a beta particle, how many protons are left in remaining nucleus?

(A) 4, 90 Protons (B 74/ 91Protons  (C) 74, 92 Protons (D) /4, 93 Protons

18(0bj)( < TE 3¢ )-2022(A)-50000 (MULTAN)



PAPER CODE 2022 (A) . m\}n‘du
NUMBER: 3477 SSC PARTIl (10th CLASS) -‘DU

PHYSICS GROUP- SOV
TIME ALLOWED: 15 Minutes OBJECTIVE (*».2 w15 = &
MAXIMUM MARKS: 12 12= AF

A | AL:G?UW&WL?FKW»;J Uﬁj')éé-)&-b’&dlfﬁ{é{(_}fﬁ -uffé.; D.C:B:A \;fl:'ﬁ)ﬁd'kidjfﬁ oy
SEIN VY -legL;u’:i:’:Sfu:aJﬂd/L)::/: 3@3}'} dfmr‘jhﬁ.f‘:? m&u:mmfi_f}; JoK L L);:j/u:fbu't_}:.._.g Bocial
Note: you have four choices for each objective type question as A, B, C and D. The choice _J,/_':',J' P;._wﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of CBJECTIVE PAPER.

Q.No.1 A Ay

(1) The unit of electric power is: ”L.:ngﬁsg_f}_af (1)
(A) Ohm (7 (B) Watt 2 (C) Joule 2 (D) Farad £/

(2) If the length of simple pendulum is halved, sl #Y L LTSSl S ()

its time period will be:
A) Var ® 7= (©) 27 o) =
2 2

(3) Example of Longitudinal waves is: -‘«‘;JL‘?-JJJ_UJE’% (3)
(A) Sound waves J#s23L-  (B) Light waves 345§  (C)Radio waves i, (D) Water waves s, dy

(4) The loudness of sound is most closely related to its: ?g.tﬂgg,rflﬂ‘]}uJLJKu’fif Ud/,i'f L« (4)
(A) Wavelength pﬂs (B) Frequency J“:f/ (C) Period 4 (D) Amplitude ;‘yfuﬁ/"f

(5) The image formed by Convex mirror is; _:ﬁ:_(gﬂéldl,é..c,,;/u’gﬂ/ (5)
(A) Real and erect wal(fg (B) Real and inverted JJIJﬂuEJ
(C) Virtual and erect ngsIJ;;n (D) Virtual and inverted JJIJJJJ;;»

(6) in series combination of capacitors, each capacitor will have same: -éutcé.l. }::%ej;;?a_.tgrjﬁ‘:_,@ )’z gf }:#7! (6)
(A) Charge Lok (B) Voltage éJn (C) Capacitance J’j‘{ (D) Charge & voltage 3l

(7) Electric power is equal to: -‘:_/.!/.»LJ}?# (7)
(A) I*R® (B) 1V (C) I*v (D) 1V?

(8) Transformer is used to change the value of: 2L L (e)ed e Ry PR (8)
(A) Energy $./1 (B) Charge vl (C) Power sl (D) Voltage é‘Jn

(9) The out put of two input NAND gate is "0" when: e (0" 2eedTie bty (9)
(Ay A=0, B=0 (B A=1, B=1 (Cy A=0, B=1 (D) A=1, B=0

(10) In computer terminology information meahs: ,‘f_vﬁ«*b’cf'ﬁﬁifu!d;’t:/‘}_? (10)

(A) Large data &imls  (B) Raw data £3#6 (C) Processed data Lii=s, (D) Any data U;iu’*(jf
(11) When Uranium (92 Protons) ejects ?J’nguﬂﬁgfﬁ;{u: w‘b/xIZ.J '}9 L6 _D};L’;r ( ;?:734 92) ﬁ‘f,uj.,». (11)
a beta particle, how many protons are left in remaining nucleus?
(A) ;9_5:4 90 Protons (B) ');;{ 91 Protons  (C) ?ﬁg 92 Protons (D) }315;,; 93 Protons
(12) If frequency of a wave is 4Hz and wavelength is 0.4 m -fm};ufu’l?ﬁ 0.4m 3%,,,1 4Hz u‘r;g/d/;f;.ﬂ/f (12)
what will be its speed?

(A) 1.6ms™ (B) 16ms™ (C) 0.16ms™ (D) 160ms™

18(0bj)( 7¥ T 7 I )-2022(A)-50000 (MULTAN)



2022 (A)

\ A

SSC PART-II (10th CLASS)

P@YSICS GROUP-II
TIME ALLOWED: 1.45 Hours

SUBJECTIVE /L2

ﬂ._,,f J’/
5145 .

=3

MAXIMUM MARKS: 48

NOTE: Write same question number

AF

48 =

e i IR L A dKdn s

and its part number on answer book, as given in the question paper.

SECTION-l il.o

2- Attempt any five parts. 10=2x5

(i)  Differentiate between conductors and insulators.
(i)~ State Lenz's Law.

(i)  Define Fission reaction and write its equation.
(iv)  Write the alpha decay for ,, Pa™

(v)  In order to measure current in a circuit

why ammeter is always connected in series?

(vi) Draw a labelled diagram to illustrate the structure of transformer.
(vii)  What is the difference between atomic number and atomic mass?
' (viii) How many watt-hours are there in 1000 Joules?

3- Attempt any five parts. 10=2x5
(i)  Describe any two characteristics of sound.

(i)  Define the capacitance of a capacitor. and write'its unit.

(i)  What is the electric field intensity? Write down its unit.
(iv)  How the capacitors are connected in two ways in a circuit?
(v)  Whatis a CPU? On which thing it consists of?

(vi) Whatis a browser and Email?

(vii) s Coulomb's law applicable for all charges?

(

What is loudness of sound? _g.Juf'f

Write any two factors on which it depends.
10=2x5
() What is meant by mechanical waves? Give example.

(i)  Provethat v= fA

4- Attempt any five parts.

(i) Why formation of image by lens and mirror is called

geometrical optics?
(iv)  Draw a ray diagram of image formation by a magnifying glass.
{v)  What is the difference between angle of incidence and

angle of reflection?
(vi) How NOT gate is an inverter?

(vii) How NOT gate is formed from NAND and NOR gates?

Draw symbol diagrams.
(viii) Make the truth table of OR gate.

(21 n)

ezt dd 24y
AN OPS IR i)

. Aok dBER i)
ey S s i
ST LS e L Pa™ ()

S bllinu S & by r26d pd L2 pnm§efnelnd ()

LS SusE (i

e SAENEAE (i)
S Lot b U7 1000 (i

g fenlingla b 34y
et BT ()
g S s S ()
B8 Sl sl D (i
?.f_cﬁt?uga_’uz;&ﬂiﬁ'sfc.w@)u (iv)
ety 2/ el CPU ()
SV s (Vi)

S bnd Uy 2l G P58 A (vi)

Ku’lgd?'u‘f’d Jffnc._é)/ ?a"_)[/‘(_f(:..ﬁLfJTJ] 330 (viii)

- fenlizble b 4y
e e i E )

v= A S et i)

e Sl B et Gy i

-u:/hfl)ikliajg{&shb(éi;uﬁ_,@ud‘g;g (iv)
?‘E— \j/ l_f'/L'J L"J)L w}'g‘j_}fﬁb;f u’-’- ,‘y’l._ifﬁ! (v)

e iidiedet (i)

L e Bk elmiad efot (i

L e RN i)



¢

(2)
SECTION-Il (1.

NOTE: Attempt any two questions.
1+2+1 e edute A e dndi i LGl e AT g S e S R

5.(A) Define electric current. How battery is used as a source of current? Explain it with diagram.

5 IO
(B) Carbon-14 has a half life of 57
in a sample to drop to one-ejght of the initial quanti

;LLlfﬂrCf

years. How long

radeid 14.gf  —eJu 5730 FuSS 14-¢k
ll it take for the quantity of Carbon-14
?

143y ool f e aln @Y

5.(A) Explain the electrostatics with
the example of elgttrostatic air cleaner.
W eI L SE Lo 1.5Km o) Ut 35cm i 2 KHz 2\ 2500 5 Jys ki

(B) Asound ywave has a frequency of 2 kHz and wavelength 35 cm. How long will it take to travel 1.5 km?

T%3 .

5 et 05s Loy 90 m SASIUSE e 190 Hz (HEp i sty b r
5%y (o) "$nllie s (2)
(B) Atransverse wave produced on a spring has a frequency of 190 Hz and travels along the length of the
springof 90 min 0.5 s. (a) What is the speed-of the' wave?

(b) What is the wave length of the wave?

20-2022(A)-40000 (MULTAN)
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PAPER CODE 2022 (A) @ ey

NUMBER: 3476 SSC PART-II (10th CLASS) ».

PHYSICS GROUP-II PSS
TIME ALLOWED: 15 Minutes OBJECTIVE M,f?_ 15 =
MAXIMUM MARKS: 12 12= Af

/’Fﬁﬂf ! /;L;’;fl),'&b;'&fh‘zfz,__-FﬁMuc'_,J: i_})szc:_.)é‘_lrcf_dlrﬁ.;téiﬂ__glﬁ _g)_'{é.;."_:_.: D s CB:A n_".'l_;':’.;-gJ!gé:L.J‘)’/f —ubd
v _fé_lp&)u”(/&f(_f:;‘.J!"Jé_L.{ )[J)jl) -fﬁ)ﬁ'&iﬁviﬁuﬁd.;b)ﬂu(i_& Sk L d._.j.éfu.l}ba)_l;ic_.—g —Zos
Note: you have four choices for each objective type question as A, B, C and D. The choice _\‘,.):/CLVP}C?.:-H’}"
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Boolean expression of NAND gate is: —lasv‘tbwyﬂfbf b (1)
(A) X = 4B (B) X =4B (€)X = 4+B (D) X = 4+B

(2) Number of components of computer based information system is: _i:_;rﬂ;ﬁzréf’ u%iaif,t;:}'g{ (2)
(A) 3 (B) 4 (C) 5 (D) 6

(3) Which of the following radiations has more penetrating power? ?‘;.upn_gjg}(,'fv dl/:_uf '/'?ldéd;'&,» (3)
(A) Gamma rays & (B) Alpha particle Jﬁglﬁ“ (C) Beta particle J:/JLU»
(D) All have same ability < (#lle=z oV

(4) The number of protonsin /> is: _4‘-_.:!).5;(7';3{& LU (4)
(A) 146 (B) 238 (C) 196 (D) 92

(5) Acurrent of 3Ais flowing through a wire T:Lgu}fé,;lgtffufﬁu uf._Lif...:.z'/;’:A e 1 e il (5)

for 1 minute. What is the charge flowing.through the wire?

(A) 3C (B). 180€C (C) 180 x 107°C (D) 20C

(6) The unit of intensity of sound is: -ﬁ:.&g{JLuL_cL.‘.I JJI;T (8)
(A) Wm™ (B) Wm' (C) wm’ (D) Wm

(7) Ifthe length of a pendulum is doubled its time period will be: b P U @)
® 21 ®) 2r © 0%

(8) The characteristic of sound by which -..;_&LIJ :U'ZC fJ)J:,"L'i LS gﬂldﬁlz(ﬁagf:a--?ib(&&:"!‘iud/jj - (8)

we can distinguish between two sounds of same loudness and pitch is called:

(A) Pitch & (B) Quality JJI:( (C) Loudness u’ffiu (D) Intensity il

(2) The image formed by Concave mirror is: ,;a(}ﬁgldué;.;.y;;ﬁ/ (9)

(A) Real sz (B) Virtual J;i_’,u (C) Real or Virtual J;;J:gdfj (D) Real and virtual both u)»;_)’;g» o
e TS iz 58 1V < AN i uF A 120F A A (10)
(10) Two capacitors of capacitances 6pF and 12uF are connected in parallel with a 12V battery.

Their equivalent capacitance is:

(A) 6uf (B) 12pF (C) 1.2pF (D) 18pF
(11) What is the voltage across a 3Q -e b -"::Jf)lﬁf‘fbul?‘.;.tu}‘:z'/g 6A ._.2.:.4,1:)/}1[. 10 ,ﬁ (11)
resistor when 6A of current passes through it?
(A) 36V (B) 9V (C) 18V (D) 2V
(12) The is a practical application of mutual induction. _.T_t/’}b”{dmlﬂiﬁf (12
(A} D.C mator s+ D.C (B) Transformer /67 (C) Relay &, (D) A.C generator 7 A.C

20(0bj)( T T 17 )-2022(A)-40000  (MULTAN)



PAPER CODE 2022 (A) Su(, 3 Ay

NUMBER: 3478 SSC PART-II (10th CLASS)
PYSICS GROUPAI A

TIME ALLOWED: 15 Minutes OBJECTIVE (3.0 o 15 =
MAXIMUM MARKS: 12 12= A

A o L S s bl e s u:ii:éfé.J&VZJlrﬁ{QfLélﬂ -u_':':zé.,) D . C:B:A agfﬁﬁl‘gég)wﬁ %
T V1 _fé."bg)uﬁ(r};g:(u’:;ur’\jé_/r;/; J‘:JJ}") -fn;rﬂﬁk'.._.«fﬁuﬂu’::.u:";fci_/: Sk L L—/C’;}J/UJ;IJBJL):;.\_«Q SN
Note: you have four choices for each objective type question as A, B, C and D. The choice _Q/C;J’Jijqc. Uiy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /,}Jlf
e AHo e e ie § 12V < Z sk cup 6uF 2P AT ()
(1) Two capacitors of capacitances 6pf" and 12puF are connected in parallel with a 12V battery.
Their equivalent capacitance is:
(A) 6uF (B) 121uF (C) 1.2pF (D) 18uF
(2) Whatis the voltage across a 3Q ek :’,,J}!L;wl?;;_m;@/ ¥ 6A w2l 3Q A (2)

resistor when 6A of current passes through it?

(A) 36V (B) 9V (C) 18V (D) 2V

(3) The is a practical application of mutual induction. -q.t'er{J!"liwifi‘l&f - (3)
(A) D.C motor # D.C (B) Transformer /17 (C) Relay & (D) A.C generator £ 72 A.C

(4) Boolean expression of NAND gate is: cerbfylels @)
(A) X=4-B (B).X = A-B (C) X = A+B D) X = A+B

(5) Number of components of computer based information system is: df;.:fﬁd’fzui("“ Fiiand ()
(A) 3 (B) 4 (C) 5 (D) 6

(6) Which of the following radiations has more penetrating power? ?+anJJ;£~@)&d/u/ ek f"-ldéde §OW, (6)
(A) Gammarays yd (B) Alpha particle 'Jf’ll;L&'f (C) Beta particle J%LL»
(D) All have same ability {_Jf_{'afwd}b"’

(7) The number of protonsin ,,U** s: Byt U ()
(A) 146 (B) 238 (C) 196 (D) 92

(8) A current of 3A is flowing through a wire ?.f_gu:fajgb"fui/’b -c_-tgﬁ;ﬁf 3A e 1 e L] (8)

for 1 minute. What is the charge flowing through the wire?

(A) 3C (B) 180C (C) 180 x107°C (D) 20C

(9) The unit of intensity of sound is: e il 8T (9)
(A Wm™ (B) wm™ (C) wm’ (D) Wm

(10) If the length of a pendulum is doubled its time period will be: K lgﬁ,f;[?("l:B’JO,{J@CJJ'UJH:%Q)T (10)
(A) V2T (B) 2T (C) g (D) %

(11) The characteristic of sound by which el :uﬁ{},ﬁuﬁ)’:iLmu’f;;,fdﬂduﬁr’-a%fu)-wﬁust:sv (11)

we can distinguish between two sounds of same loudness and pitch is called:

(A) Pitch & (B) Quality (1 (C) Loudness (4350 (D) Intensity il

(12) The image formed by Concave mirror is: | -f,‘—tjﬂg'd"é_-cifzﬂ (12)

(A)Real £, (B) Virtual f»  (C) Real or Virtual Jz.s | (D) Real and virtual both sz st o

20(0bj)( T T¢I I¢)-2022(A)-40000  (MULTAN)



IPAPER CODE 2022 (A) pay
N.UMBER' 3472 SSC PART-ll (10th CLASS)

YSICS GROUP-II oot U
TIME ALLOWED: 15 Minutes OBJECTIVE d%/".-v) w15 =
MAXIMUM MARKS: 12 12= AF

Ao b A3l R Uhd i L i g36312 . fLE 5D sl C B A =zl Ly S
x;f.Jlru’l ?GBLJJ/JJIJWJJ‘JL.L/ ,'fl:,lu“) ..fﬂ)y“",l:huliuﬂu"...uﬂ;rd,,& / K L .d,_,f.q,fu:/l_rul.x.;..u.f &
Note: you have four choices for each objective type question as A, B, C and D. The choice _u‘__.f J’&wwr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER. .
Q.No.1 A )y
(1) Ifthe length of a pendulum is doubled its time period will be: K bris (ewuu;/ Wb )

o (8) 2T () g D) —5
(2) The characteristic of sound by which -.;.JU{ «uﬁC/J)gi’i:i imJ &sldxkd..gﬁc.gs&ﬁwﬁuufﬁib (2)
we can distinguish between two sounds of same loudness and pitch is called:
(A) Pitch & (B) Quality (¥ (C) Loudness U#55) (D) Intensity el
(3) The image formed by Concave mirror is: ol G ;d;,g';_;_,/f (3)

(A)Real £, (B) Virtual 7 (C) Real or Virtual Zs 4 £/ (D) Real and virtual both Ussfzs 1
e FF oS e Fire gl 12V 2 pskon - 6uF 4 12uF AESER s @)
(4) Two capacitors of capacitances 6uF and 12pF are connected in parallel with a 12V battery.

Their equivalent capacitance is:

(A) 6uF (B) 12uF (C) 1.2pF (D) 18uF

(5) What s the voltage across a 3Q VLt B IHE M TESY 6 re kil 30 f (5)

resistor when 6A of current passes through it?

(A) 36V (B) 9V (C) 18V (D) 2V

(6) The is a practical application of mutual induction. o r)f'b’gdr‘fﬁﬂ‘ﬁ::‘ — 8
(A) D.C motor /» D.C (B) Transformer i/ (C) Relay &, (D) A.C generator £2A.C

(7) Boolean expression of NAND gate is: -guwu‘-finf-‘—;" bl (7}
A X=4F8 (B) X = 4-B C) X=A+B (D) X =A+B

(8) Number of components of computer based information system is: -q.:lﬁb(lffcf.(u Tt (8)
(A) 3 (B) 4 (C) 5 . D)6

(9) Which of the following radiations has more penetrating power? ?.:;.a)_i:b):l,-_ﬁ:}d_!-‘(fg/a.u: j?id;_‘_JJ”:’(;u (9)
(A) Gamma rays 74 (B) Alpha particle £5{ (C) Beta particle /4
(D) All have same ability < ({i=2 o 12

(10) The number of protons in 4, L/ >* is: -.;_;@J;F};{ut LU (10)
(A) 146 (B) 238 (C) 196 (D) 92

(11) Acurrent of 3Ais flowing through a wire T BB e trasS 3A et el (1)

for 1 minute. What is the charge flowing through the wire?

(A) 3C (B) 180C (C) 180 x 107°C (D) 20C

(12) The unit of intensity of sound is: -‘agngUimi.ﬁlJibT (12)
(A) Wm™ (B) Wm™ (C) Wm? (D) Wm

20(0&)(*)-2022(/\)—40000 (MULTAN)



PAPER CODE 2022 (A) | ey

NUMBER: 3474 SSC PART-Il (10th CLASS)

PHYSICS GROUP-II b < o J Y
TIME ALLOWED: 15 Minutes OBJECTIVE u;’:f’,.ﬂ? e 16 =
MAXIMUM MARKS: 12 12= AF

Fa o & SN Gl ir e S s s W lrn 612 c L D C B A ayn el L
<2 ¢LdrU ..gé_.lg_l:)vﬂr’fléf:f::.-uﬂ;;,):é }{_,'5//1) -{ﬂxr"jﬂ..__fﬁu:&uﬁ.bﬂ"u(iﬂf.;‘ ok L d:.);;fu:;'.iu_i,}:__p et
Note: you have four choices for each objective type question as A, B, C and D. The choice _g,:f.:J’f. w Uy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 - ;}le

(1) The number of protons in  ,,U** is: _é‘:_“,wjd’j;’{u: LUP ()
(A) 146 (B) 238 (C) 196 (D) 92

{(2) Acurrent of 3A is flowing through a wire ?g‘:,t:uyﬂfw___lpg‘uf') _c‘_u‘«c..:jf 3A e .:,u.“}b.g (2)

for 1 minute. What is the charge flowing through the wire?

(A) 3C (B) 180C (C) 180 x 107°C (D) 20C

(3) The unit of intensity of sound is: e Ll T (3)
(A) Wm™ (B) Wm™ (C) wm? (D) Wm

(4) If the length of a pendulum is doubled its time period will be: ionh gl SISO SISl (@)
™ V3T ®) 27 © © 7

(5) The characteristic of sound by which -.T_Jllgf ru‘ffﬁ)ﬁh Lnd @JJUALLQ(?L,_”JJ-M:‘;”J}? v (5)

we can distinguish between two sounds of,same loudness and [pitch is called:

(A) Pitch & (B) ‘Quality, 1" (C) Loudness (4550 (D) Intensity _iuisti

(6) The image formed by Concave mirror is: = én(’fldlnaﬁ,aﬂx/f (6)

(A)Real &, (B) Virtual f2s  (C) Real or Virtual Jos L £/ (D) Real and virtual both Usin Sz f
e FFhly e fine 58 12V < & pHaln p 60F w 120F S FF R e (1)
(7) Two capacitors of capacitances 6uF and 12uf are connected in parallel with a 12V battery.

Their equivalent capacitance is:

(A) 6uF (B) 12uF (C) 1.2uF (D) 18pF
(8) What is the voltage across a 3() ~etn -“::._jl)’iéﬁxg_ﬂ?g_b}@/K 6A w2 Ll 3Q [ (8)
resistor when 6A of current passes through it?

(A) 36V (B) 9V (C) 18V (D) 2V

(9) The is a practical application of mutual induction. sl t‘f(&;dﬂﬁf By ()
(A) D.C motor v D.C (B) Transformer ~u// (C) Relay & . (D) A.C generator 22 A.C

(10) Boclean expression of NAND gate is: -c“.:/Lku%‘:fJ.‘Zia‘ (10)
(A) X =d-B (B) X = 4B (C) X = A+B (D) X = A+B

(11) Number of components of computer based information system is: ..‘LJfJ-”-U(U?U:'}'/U?Ju;'E;{J (1)
(A) 3 (B) 4 (C) 5 (D) 6

(12) Which of the following radiations has more penetrating power? ‘.‘q_a:pn';ﬂf’dfrch.wﬂiéédjbn (12)
(A) Gamma rays '/_;LZ (B) Alpha particle J;//l.&uﬂ (C) Beta particle Jﬁlﬁ;

(D) All have same ability < (“ofl=2badp
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